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set is everything A or is but not in their intersection

S A vis Anis

b The set includes the parts of Ants that are not a C

S LAMBSIC

c Breaking the shaded region up we have

A FB is A B

M
Anc

c c

se S Anis u land



d Breaking the sets p we have

A AABAC A B

UMA
CACAUB

c c

so S An Bnc U C nCAVBS

May of these can be further simplified using set algebra

but this is typically done only if we know certain

probabilities e.g if we threw Plants's

Itf definition of a partition we have

A MA D
S A UA UA and A 113 0

A 113 01

The following diagram may be useful



IBRA 10
Az

B7121 20

Hanka
IBMA 15

As

Since A AzAs are mutually disjoint we have that

1B É IA AB 10 20 15 45

t t a union corresponds to a for see any statement

so we have

I I xe R o ex for some rein

See n ten this set must not contain anything greater

than or equal to 1 However for any value Xel

we can find a large enough n so that I x

Inote that fig 1 Therefore

II Co D



Éo that an intersection corresponds to a for all
statement So

II to t xEIR x et knew o

Clearly O is in this set Why
not anything else

Take some small value so Then there exists an n

such that I c e meany
e cannot be in the set for

any
E o

EI
AABEI Note Anis

A vise

D AEF A EF

2 Be F S BEEF

3 A B e F A U B e F

4 A UBC EF A CUB J e F

AlBEI Note A B AMB

1 B E F 3 B e F

2 A BEEF A A Bee F by
above



ABBÉ Follows directly by A Bet ad fact
that F

is closed under countable unions

EI
PlanBI Note that Pla

PlanB Plants

The events AAB and Anis
are disjoint so

PLA PLANB PLANTS

plants Pla Plan B

PIA PLA PCB
PCAOB

PIA UB PIB
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